
11.2.21 

Year 1 Repeated Addition  

 

Here is my example: 

There are 3 bags of apples. Each bag has 10 apples. How many apples are 

there in total? 

 

 

 

 

 There are 5 packets of candles. Each packet has 5 candles. How many 

candles are there in total? 

 

 

 

There are 7 bunches of flowers. Each bunch has 2 flowers. How many flowers 

are there in total? 

 

 

 

There are 10 packets of lollipops. Each packet has 5 lollipops. How many 

lollipops are there in total? 

 

 

 

There are 4 bags of apples. Each bag has 10 apples. How many apples are 

there in total? 

 

10 + 10 + 10 = 30  

3 x 10 = 30   



11.2.21 

 

There are 7 packets of candles. Each packet has 5 candles. How many 

candles are there in total? 

 

 

 

There are 9 bunches of bananas. Each bunch has 10 bananas. How many 

are there in total? 

 

 

 

There are 2 bunches of flowers. Each bunch has 10 flowers. How many 

flowers are there in total? 

 

 

 

There are 9 bunches of flowers. Each bunch has 2 flowers. How many flowers 

are there in total? 

 

 

 

There is 1 packet of lollipops. Each packet has 5 lollipops. How many 

lollipops are there in total? 

 

 

 

 There are 3 bags of apples. Each bag has 10 apples. How many apples are 

there in total? 



11.2.21 

Year 1 Repeated Addition Extension Questions  

 

There are 3 bunches of flowers. Each bunch has 2 flowers. How many flowers 

are there in total? 

 

 

 

There are 4 packets of candles. Each packet has 5 candles. How many 

candles are there in total? 

 

 

 

There are 6 bunches of flowers. Each bunch has 2 flowers. How many flowers 

are there in total? 

 

 

 

There are 10 packets of lollipops. Each packet has 5 lollipops. How many 

lollipops are there in total? 

  

 


